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() S P @PIRT i[9 el wie | [Define half-range

Fourier cosine series.]
(¥) WRAR FAWES At w8 | [Define Fourier transform. ]

(o) L{¢"} @9 99 92 [Find the value of L{z"}.]

@ W LFO}=f(s) W SW® L{(F'()}= Fo2 [If
L{F(t)} = f(s), then L{(F"(t)} ="7]

(6) wfbsr fRofdre @G feid | [Write down the complex inversion

formula.]
() ROE W8FF AN 7L | [Write down the Bessel’s

differential equation.]

(R) ™% @ FIHCIE Al we | [Define complementary error
function.]

(T) CE®R AR & Fe[eE @i 14 | [Write Rodrigue’s
formula for legendre polynomial.]

(¥) GeeR I P (x) @9 W e | [Define Legendre
polynomial P (x).]

(@8) ARG I=°MIT 2fBase I &1 | [Write down the integral

form of Hermite polynomial.]
(B) == iex FICF 0T ? [What is called orthogonal function?]

() CUTSER G @5 fer4 | [Write down the duplication
formula of Legendre.]

4Rt

f(x)=x THEHEE 0<x<2 IRM(CCe NGag FHRIF Feq R
f&®® 39 | [Expand f(x)=x in the interval 0<x <2, in half range

Fourier sine series. ]

wfere “ifdren ez
3 ! | F(t-a), 3 t>a
o1 AWM L{F(t)} = f(s) 4R G(t)—{ J Cwi 2, O[@ (YIS
@, L{G(t)y=e “f(s) | [If L{F(t)} = f(s) and

8 1

G(t) = {F(t —#); Wiien, ¢ > then show that L{G(t)} =e ™ f(s).]

0 ,whent<a

x6

) o 2
ARPTOIER Stow 9T I j(xcosx SINY)” 1y am ww fefE =,
0

1-x*, x<1dqx>-1

© . )
XCOSX—SInx
J'( ) dx

[Evaluate 5

Q@S F(x)=
) { 0,x>1Mx<-1 : %

1-x*,x<1 -1
using Parseval’s identity, where F(x)= rox<iorx>-—1
0,x>lorx<-1

1 0
(I=2xt+£%) 2= "t"p,(x) (SICADR FIXW I I A9 9 (T,

n=0
(n+D)p,. (x)=C2n+Dxp,(x)—np, (x),n=1 | [Using the

1

generating function (1-2xt+7%) 2 = Zt” p,(x), prove that
n=0

(n+1)p,.,(x) = 2n+Dxp, (x)=np, ,(x),n=1]

M8 @ [Show that], 2rn+1xp,(x)=(n+1)p,.,(x)+np, ,(x)

g9 34 @ [Prove that], J, (x) = /i sinx
2 X

ARG @AM 8 (FTITSIF @AM g 7% 7% F9 | [Establish the
relation between Hermite polynomial and Legendre polynomial.]

welE I@ANTS f(x)=e “ & S 9 | [Expand f(x)=e ™ in

Laguerre polynomials.]
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et
1+§,—7rﬁx<0
ol f(x)= 2” T Py a= A 39 1 woseR
1——x,—0Sx<7r
T
Z 1 1 1
(ARG ¥, — =t —enmen s oo | [Find the Fourier series
r 3 5

1+2—x,—7z£x<0

of the function f(x)= 7 Hence show that,
2%
1-—,-0<x<nrx
T
~ 1 1 1
S T I S OO,]

8 17 3¥ 5
+x, T —r<x<0
N (-z,7) IRECS f(x)= Shis e R DT IR GIE RIS
T—x, WI0<x<7
gl 9@ 71 [Find the Fourier series for the function
T+x,when —7r<x<0

f(x)= { in the interval (-7, ) .]
7—x,when O<x<7x

S | TN FAST TR I WS Ao g ey w9
Y"+2Y'+5Y =e'sint T Y(0)=0,Y'(0)=11 [Use Laplace
transform to solve the differential equation Y"+2Y'+5Y =¢”'sin¢
when Y(0)=0,Y'(0)=1.]

39 1 M L{F(f)} = f(s) T, OW@ M8 @ [If L{F(t)} = f(s), then show
that],

o]t}
]

(2) L{'F(u)d } J)

wfere “ifdren ez

38 | () 48 (@ [Show that], J, (x) = /(i) sin x
2 /P

(<) it @ [Show that], ' = > 7, (x)

se | @A T, L (x) = [e_ j _(e7x"), oft TR T L (x), L, (%), L, (x)
n ax

@ L,(x) ffa =91 [Prove that, L (x)=-—
|n dx"
find the value of L (x), L,(x), L,(x), L,(x).]

S | T IRMIF il (AT 39041 e @k & F7 | [State and
prove the orthogonality property of Laguerre polynomial.]

( ~*x"). Using it,

541 &9 FF @ [Prove that], Ie"szm(x) Hn(x)dx:2"[ﬂ\/;§m’n

0,349 [when] m # n

@A [where], o, , =
’ 1, ¥¥9 [when] m =n

www.pimathclub.com www.pimathclub.com www.pimathclub.com www.pimathclub.com



